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5. Perry’s bank has approved a personal loan of $14 000 at 7.5%, 0 ( m w
compounded quarterly, so that Perry can pave his driveway. Perry ‘F

wants to repay tht" lD"{D at thf -EIlCI Dl’ 4 years, Wltl‘l F: | SIl'IE € pay! ment

a) How much will Perry need to pay? A 7 d/ 075
b) For each situation below, predict whether Perry would end up D ‘f

paying more or less than the amount in part a). Explain your

prediction. Then \-’t"l'ii:}" your prediction b)-' calcu|ati11g how much
more or less. / 8 gYS éi)

i) He took twice the time to repay the loan.
ii) He paid off the loan in half the time.
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EXAMPLE 4 Solving for the payment and interest of a loan
with regular payments

Jose is negotiating with his bank for 2 'mortgage on a house. He has been mortgage

: A loan usually for the purchase
told that he needs to make a 10% down payment on the purchase price of / P

of real estate, with the real
$225 000. Then the bank will offer a mortgage loan for the balance estate purchased used as

at 3.75%, compounded semi-annually, with a term of 20 years and with collateral to secure the loan.

monthly mortgage payments.

collateral

a) How much will each payment be? An asset that is held as security

b) How much interest will Jose end up paying by the time he has paid off against the repayment of a loan.
the loan, in 20 years?

¢) How much will he pay :ﬂtuge?er?
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EXAMPLE 5 Relating payment and compounding frequency
to interest charged

Bill has been offered the Fo”owing two loan options for borrowing $8000.
What advice would you give? u q ’
Option A: He can borrow at 4.06% interest, compounded annually, and { ' &
pay off the loan in payments of £1800.05 at the end of each year. § j
Option B: He can borrow at 4.06% interest, compounded weekly, and pay ?/ “\
off the lom\ ments of $34.62 at the end of eac /\7 / 69\
*N=4, 53355RG02 5\1(5 .
Fli=EHEE R oEr A Y SRR
FMT=-1288. 85 pu:gaag
Fl/= FMT=-34.62
F.=1 Fi/=a
Coh=1 P-4Y=52
FMT:2gM BEGIH CoY=52
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N=total # of payments [compounded x term]
1 %= interest rate [enter as a %)]
/=loan amount [subtract down payment if given]
HT—payment amount [negative 4
)= set equal to zero...pay loan off after end of term
F'.r' =number of ayments per year
CsY= compoundmg period per'year

PMT: |23 BEGIN
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